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five to five past

o’clock

ten to ten past

(a) quarter to (a) quarter past
L1 L twenty past
twenty-five to twenty-five past

half past
2EEXET Sy It is five past two. = It is two O five.
2EBXET 10 5 It is ten past two. = It is two ten.
2EBXBT IS5 It is a quarter past two. = It is two fifteen.
2EXET 20 o It is twenty past two. = It is two twenty.
2EXBT 255 It is twenty-five past two. = It is two twenty-five.
2EBXET 30 5 It is half past two. = It is two thirty.
B2S M3 BT It is twenty-five to three. = It is two thirty-five.
B20 e 3BT It is twenty to three. = It is two forty.
BISsERIET It is a quarter to three. = It is two forty-five.
B 10 748 3BT It is ten to three. = It is two fifty.
BSyEw3ET It is five to three. = It is two fifty-five.
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3228 3EEXBT 28 % It is twenty-eight past three. = It is three twenty-eight.

854 HONHEMIBT It is six to nine. = It is eight fifty-four.



